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(English Version)
Note : (i) You must write the subject-code/paper-code 054/C in the box provided on the title
page of your answer-book.

(ii) Make sure that the answer-book contains all pages (including title page) intact and
are properly serialed as soon as you receive it.

(iii) Question/s attempted after leaving blank page/s in the answer-book would not be
® evaluated.
(iv) There are a total 17 questions and four sections in the question paper. All questions
are compulsory.

(v) Part-A contains question numbers 1 to 5 very short answer type questions of one
mark each.

(vi) Part-B contains question numbers 6 to 13, short answer type I questions of two marks
. each.

(vii) Part—C contains question numbers 14 to 16, short answer type Il questions of three
marks each. .

(viii) Part-D contains question number 17, long answer type question of five marks. There
is internal choice in this question.
(ix) There is no overall choice in the question paper.
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Part-A
Each question carries one mark :
What do you mean by Brood Parasitism ?

Why the motor vehicles equipped with catalytic converters should use unleaded petrol ?
What is meant by green revolution ?
Name the instrument shown in diagram.

Acid/Base — Mofor
for pH ; Foam
control braker
Steant for Flat bladed
sterilisation impeller
—Culture
broth
—Sterile Air
Expand ELISA. 1
5x1=5
Part-B
Each question carries two marks :
Distinguish between food chain and food web. 2
Why is the amazon rain forest known as ‘lungs of planet earth’ ? . 2
What do you understand by Biomagnification ? 2

A farmer is facing the problem of low yield in his field of sunflower. He is advised to keep a

beehive in the vicinity. Why ? How would the beehive help in enhancing the yield ? 2

In which food would you find lactic acid bacteria (LAB), Mention one of its useful application

in the formation of household food products. 2
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Why is restriction endonuclease enzyme called as *Molecular Scissor’ 7 Explain its role in
y a

biotechnology. z
Bricfly write about microinjection method for introduction of alien DNA into host cell. 2
What are Cry protcins ? Name the organism that produce it. | 2
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Part-C

Each question carries three marks :

Define Commensalism. Givean example.. 1 ' . E 3
What are methanogens ? Discuss the role of mlcrobes in energy product:on 3
How was insulin obtained before the advent of tDNA technology ? Draw a diagram to represent
the process of maturation of pro-msulm into msulm in human bemgs 3
| 3%3=9
Parf—D

Each question ca_rries'ﬁ_(re marks :

Describe carbon eycle in an ecosystem with the nelp of diagrammatic representation. =
_or |

Discuss various causes of loss of biodiversity. . ‘ ' AR T : 5
| 1x5=5
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